Instructions:

1
2.
3.
4

Diwaliba Polytechnic, UTU.

Basic Mathematics — I Sample MCQs

. Attempt all questions.

Make suitable assumption wherever necessary.
Each question is of 1 mark.
English version is authentic.

SET 1 (60 MCQs)

Logarithmic form of 82 = 64 is

A. logg64=2 B. logg8=2
C. logg2=064 D. log,64=8
82 = 64 < dg2RIslA 29434 &,
A. logg64=2 B. logg,8=2
C. logg2=064 D. log,64=8
log, 16 =
A 8 B. 2
C. 3 D. 4
log, 16 =
A 8 B. 2
C. 3 D. 4
log2 +3log2=
A 4 B. loglé6
C. log4 D. 16
log2+3log2=
A 4 B. loglé6
C. log4 D. 16
2 4
log - log i
A. logl B. 0
C. 8 D. AandB both
log%

2 4
logs -log - =

A. logl



C'18
%830

log1.log 2. log 3 =

A 1
C. 0

log1.log 2. log 3 =
A 1
C. 0

log§+ log§+ logg =

A 0
C. log 16

5 3 8
logg + logg + logg =
A 0

C. log 16

3 4

log; 8 log,16 ———
A 2
C. 2log,4

3 4

log,8 logz16 ————
A 2
C. 2log,4

If logx +2 logx =log 27, then x =

A 1
C. 6

el logx + 2 logx =log 27, dlx=

A 1
C. 6

log, 410888 =

A 1
C. 0

log, 410888 =
A 1
C. O

A 3 B 6l

log 6
log 3

log 6
log 3

1
None of these

1
AERVERT|

1
None of these

1
ARV



10.

0.

11.

9.

12.

2.

13.

3.

14

Y.

15.

A 2

C. 8

2logz 27 —

A 2

C. 8

[(1) (1)] isa

A. zero matrix

C. diagonal matrix
1 0

o 1*

A, R Al

C. [asalafus

Two matrices A and B are multiplied to get AB, if
B.
D.

A. both are rectangular
C. no of columns of A is equal to columns
of B

o Albs A wa B 9l 4 AB Hdl, o4l
A oA doriza Sia
C. AWAB l 2d™ AHI €A

If A is a skew-symmetric matrix then, A’ =
A A

C. -A

orl A 22f dlil2s Alds sl dl, A =

A A
C. -A

Expand the determinant |_82 i|

A 14

C. 8

[Az2115 (A2 521 |_82 i
A 14

C. 8

Matrix [ 5 8 6] is called

B.
D.

B.
D.

column matrix
row matrix

A 2lbs
U[sd glbs

both have same order
no of rows of A is equal to no of rows of B

W oll 152 AUl Sl
A B Al Ulsd uM14 Sla



u.

16.

<.

17.

9.

18.

<

19

e

20.

20,

A. Column matrix B.  Square matrix

C. Row matrix D. Diagonal matrix
Al [5 8 6] < 5614 9

A sign glis B.  dizualbs

C. il Als D. [dsQlalus

The value of the determinant |}6] i| is

A. 30-xy B. 6x-5y
C. 6y-5x D. ©6x+5y
6 5| (22125 4 Her £,
y X <2
A. 30-xy B. 6x-5y
C. 6y-5x D. ©6x+5y
If A is a square matrix then, A - AT is matrix.
A. Diagonal B.  Symmetric
C. Row D. Skew -symmetric

orL A 41 AR5 sli dl, A - AT DIES

[Asel B. 3
C s D [aifq

If A'is a matrix of order p x g and B is a matrix of order g x n then order of AB is...
A. pxm B. nxp
C. pxn D. mxp

5L A B2 Bis @L[\Qlés@ pxquBQTtbﬁiqunigl[\lgl% £, dl AB <l »li3%...
A. pxm B. nxp
C. pxn D. mxp

Transpose of a row matrix is a
A. Column matrix
C. Row matrix

Square matrix
Diagonal matrix

O w

-

B AR AL 2e4diB 2L
A sian B B. siza Al

'(3/

C. il aAls D.  [asalalus
. [8 77.

Matrix [6 2] is called
A. Column matrix B.  Square matrix
C. Row matrix D. Diagonal matrix
N 8 71~ ~ o

¥
als |2 2] A s3I 9



21.

9.

22.

L2,

23.

3.

24.

Y.

25.

U,

26.

A sign glis
C. ilqglis

1-sin%0

A. sin’@

C. cos’6
1-sin%0

A. sin’@

C. cos’6
sin(m— 0) =
A. sin@

C. -sin@
sin(m— 0) =
A. sin@

C. -sin@

Convert radian measure into degree measure:

A. 15°
C. 20°

-~ ~ c P ~ 4m
A Hiua (290l Hrumi 3uiald s T

A. 15°
C. 20°

If cosA = ‘/2—5 e SinA = % then, tan? A =

—_

A 1
3
C. 9

o] CosA = ? WA sinA = % dltan?4 =

IF n/2< 6< m then cos (n - 8) =

A 1
3
C. 9
A. -cosf
C. sind

%\ n/2< 6< m d\ cos (n - 6) =

A. -cosf
C. sind
sec? 0 =

41T

Az 405
CENPIRE

sec’ 6
cot? 0

sec’ 6
cot? 9

-cos@
cos6o

-cos@
cos6o

40°
250

40°
250

-sin@
cos@

-sin@
cos@



27.

9.

28.

<.

29.

R

30.

30.

C. 1 D.

sec’ 0 = +tan’ 6

A. 0 B.

C. 1 D.

sin (-90°) = :

A. 0 B.

C. -w D.

sin (-90°) = :

A. 0 B.

C. -o D.

sin 45° =

A 2 B.

C. i D.
V2

sin 45° =

A 2 B

c. 1 D
V2

If cos 6 = z, then sec 0 =

A 4 B.
3

C. i D.
16

%\ cos 6 :%, dlsec =

A 4 B
3

C. i D.
16

-1

8 8

1| S

| &

R

|
NS,

1 o

If cosA = % and sinA = \/2—5 then, sec? A +tan? A =

A. 4 B.
C. 9 D.
¥l COSA = % 24 SiNA = g i, sec? A +tan? A =

A. 4 B.
C. 9 D.

7
13

13



31. is a scalar quantity.

A. Force B. Distance

C. Velocity D. Displacement
31. ) u (€9l 2l .

A o B. widz

C. gu D. 2q4idz
32. jxk=__

A, - B. 0

C i D. None of these
32, Jxk=__

A - B. 0

C. i D. sl uil él
33. (0,2,-3).(3,-2,-4)= ___

A. 12 B. 10

C. 8 D. 15

33. (0,2,-3).(3,-2,-4)=

A 12 B. 10
C. 8 D. 15
34, i.i+j.j+kxk=__
A 2 B. 3
C. 0O D. None of these
3. b.i+j.j+kxk=__
A 2 B. 3
C. 0 D. sl uil él
35. The modulus of P(2,-2,1) is
A 3 B. -3
C. 5 D. 1
33U P(2,-2,1) < Wt JICH
A 3 B. -3
C. 5 D. 1
36. & x b is perpendicular to
A a B. aand b both
C. b D None
3. ax bw a4 Qi 6.

>
Q|
vs)
Ql
&
W)
o
L
4
A



37.

39.

38.

3<.

39.

3.

40.

¥O.

41.

w9.

42.

w2,

C. b D. s qdl
The modulus of the vector (%’_T:'%) is
A 1 B. 1/3
C. V3 D. 2
2 -2 1 . ~

ylel (557 due 9.
A 1 B. 1/3
C. V3 D. 2
The vector represents a unit in the direction of Y-axis.
A. (01,0 B. (1,1,1)
C. (0,0, D. (1,0,0)
uleal v-3elsfl €2LL HI WsH (el e21ld B.
A. (0,1,0) B. (1,11)
C. (0,0, D. (1,0,0)
If @ =(-2,1) and b = (2,3) then, 3a@ + 2b = :
A (-2)9) B. (2,-9)
C. (-6,6) D. (04)
ofla=(-21) x4 b=(23)dl,3a+2b= .
A (-2)9) B. (2,-9)
C. (-6,6) D. (04)
If x.(0, 3) +vy.(2,0) =(2,3) then, x +y = .
A 1 B. 3
C. 5 D. 2
%\ x.(0, 3) +v.(2,0) = (2,3) dl, x +y = .
A 1 B. 3
C. 5 D. 2
Slop of the line which pass through two points A (-1, 3) and B (2,-6) is .
A 1 B. 1/

3
C. -3 D. 3
[Bigail A (-1,3) Wl B(2,-6) Hidll uatlz adl &1 il zla .
A 1 B. 1/

3
C. -3 D. 3
Angle between two line x -y =0 and 2x-2y =0 is
A 0° B. 90°
C. 30° D. 60°

-

6L 20U X - y = 0 el 2x-2y = 0 A28, <Ll vl .



43.

3.

44,

v,

45.

U,

46.

v,

47.

w9,

A 0° B. 90°

C. 30° D. 60°

The area of a triangle whose vertices are (3,0), (0,6) and (0,0) (in sg. units) is
A. 6 B. 45

C. 9 D. 18

syl [221[51221 (3,0), (0, 6) 24l (0, 0) £ ddl (sl Ax50L (A1 HisHIHI)

A. 6 B. 45

C. 9 D. 18

The end points of diameter of a circle are (2,4 ) and ( 2, -1) . The radius is....

A. 52 B. 52
2

C. E D. 5
2

AdUL AL 2id [Big2ll (2, 4) 24 (2, -1) 9. Al Bewl...

A 52 B. 5V2
2

C. E D. 5
2

The point which lies on the perpendicular bisector of the line segment joining the
points A (0,5)and B (2,3 ) is .

A (1,4 B. (-2,-8)

C. (29 D. (-1,-4)

[Bigail A (0, 5) A B (2,3) < 614l 2utl AL ciod Baastiors wz siiAa Big .
A (1,4 B. (-2,-8)

C. (29 D. (-1,-4)

Find the distance of the point (3, -4) from the origin.

A. 25 B. -1

C. 5 D. 7

BeaH [ig #l (3, -4) [6lg o »idz 2.

A 25 B. -1
C. 5 D. 7
The point (1, -3) lies in the quadrant.

A 1% B. 3¢
c. 2 D. 4"
iz (1, -3) 2204} 209G 9.

A 1% B. 3¢

C. 2nd D. 4th



48.

L.

49.

50.

yo.

51.

uq.

52.

uz.

53.

u3.

Find the value of P for which the point (-2, 1), (0, p) and (3, 3) are collinear.

A 1 B. 3
C. 4 D. 2
P 4 Hed glHL syl Wiz [ig, (-2, 1), (0, p) el (3, 3) uuzvt 9.

A 1 B. 3
C. 4 D. 2

Which point lies on x-axis?

A. (09 B. (2,0)
C. (23 D. (24)
x-218, Uz 24 [6ig, 2udd 9?

A. (0,9 B. (2,0)
C. (23) D. (24

In AABC, A(1,2), B(k,2), C(2,1) and m£B = = then, k =

A 12 B. 02
C. 2 D. -12

AABC 4L A(1,2), B(k,2), C(2,1) A mzB =2 dl, k =

A 12 B. 0,2

C. 2 D. -12

If perimeter of a square is 16 cm then its area is cm?
A. 15 B. 16

C. 25 D. 9

oxl Al URM[A 16 cm &9 dl d< [Azd1R cm?. €9,

A. 15 B. 16

C. 25 D. 9

A rectangular field is 30 m long and 20 m wide. Perimeter of rectangular field is
A. 100m B. 1000 m
C. 140m D. 500m

o212y, @2 30 m Qio) vid 20 m sl €9, dodiz, Al wRMla

A. 100 m B. 1000 m

C. 140m D. 500m

A cylinder having a height of 6 cm and radius 2 cm. the lateral surface area will be
A. 70cm? B. 12cm?

C. 75.4cm? D. 24cm?

Bioral 2 cm 244 G219 6 cm 421adL [Rlasz otisyll 2wzl [QzdiR cm? ¢

A. 70cm? B. 12cm?

C. 75.4cm? D. 24cm?

cm



54.

uy.

55.

uy.

56.

Ue.

57.

uo.

58.

Uc.

A tank of length 6 m, breadth 3 m and height 1 m can store litre water.
A. 18000 B. 18

C. 10000 D. 6000

6 m doll), 3 m UGS 2 1l Gl driadl 215 215l wi litre well AHIA.

A. 18000 B. 18

C. 10000 D. 6000

Area of a circle is 707 cm?’ then radius of the circle is cm.

A 14 B. 16

C. 15 D. 20

25 A4l < #3450 707 cm?® Sl dl A<l Bienil cm. 4,
A 14 B. 16

C. 15 D. 20

Area of circle made from 82 cm long rope is cm?
A 616 B. 531

C. 88 D. 169
82 cm aliotl 212314l otddl dqadl [AzdiR cm? €9

A 616 B. 531

C. 88 D. 169

The total surface area of a hemisphere of radius 8 cm is.......cm

A. 1232 B. 616

C. 402 D. 205

215 8 cm [Bswl <L oloud <l sd Auizl 4 axsa =........ cm?

A. 1232 B. 616

C. 402 D. 205

The total area of a cylinder with the radius r and height h is.......
A.  2zr.(r+h) B. 2zrh

C. arh D. arch

r Biosil vt Glals h w2 [laezd sd [z .. 215

A.  2zr.(r+h) B. 2zrh

C. ar?h D. r®h



59.

Uz,

60.

<0.

The volume of a cuboid having length 8 m, breadth 6 m and height 3 m is

A. 108 B. 289
C. 144 D. 225

~ N

25 dotad <l doud 8m , uslousd 6 m st Gi™l 3 m 9. dl dd ddsn=

~

A. 108 B. 289

C. 144 D. 225

The ratio of radii of two spheres is 2:5 then the ratio of their volume is ......
A. 8125 B. 4:25

C. 1258 D. 25:4

~ =~

oL ol <l Bowl 2BlR 2:5 €9 dl Usdl dMelL 5% Ul AR ...
A. 8:125 B. 4:25
C. 1258 D.

y¥lez 2.



Logarithmic form of 32 = 9 is
A. log;2=9
C. logz9=2

32 =9 4 agapisla 23y

A. log;2=9
C. log;9=2

log, 32 =

A 5
C. 32

log, 32 =
A 5
C. 32

log4 -log4 =
A 0
C. log8

log4 -log4 =
A 0
C. log8

27 10 _
log5+log?—
A. logl
C. l 37

%839

logz—g + ]0g§:

A. logl
c. .37
%639

SET 2 (60 MCQs)

B. logg3=2
D. log,9=3

B. logg3=2
D. log,9=3

w
N

o
N

B. logl6

B. logl6

B. 0
D. A and B both

B. 0
D. A 24 B ol

log 10. log100. log1000 =

A 6
C. 1

log 10. log100. log1000 =

A 6
C. 1

X z z

-+ -- - =
logy logx logy
A 0

B. 1logl00
D. 1og1000
B. 109100
D. 1logl000
B. 1



10.

q0.

11.

C. log xyz

x z z _
log; +log—- log; =
A 0

C. log xyz

2 3
log, 16 log,8 ——
A 1
C. 3log,8

2 + 3 .
log,16 log, 8 —
Al
C. 3log,8

If logx + log(x — 4) =log 12, then x =

A 1
C. 6

o8\ log x + log(x — 4) =log 12, dl x=

A 1
C. 6

10g2 4logz16 —

Al
C. 4

logz 410g2 16 —

A 1
C. 4
310g4 16 —
A 2
C. 9
310g4 16 —
A 2
C. 9

If A is a square matrix then, A + AT is
A. Diagonal
C. Row

None of these

1
25 Ul <l

2
None of these

2
LRV

matrix.
Symmetric
Skew —symmetric



4.

12.

<.

13.

3.

14.

Y.

15.

u.

16.

1s.

ofL A 2124 4lBs < dl, A+ AT AR,
CE)

C. .-
SEAId}

If A is a Skew-symmetric matrix then, A’ =
A A

C. -A

oL A [ARAMA 205 sl dl, A’ =
A A

C. -A

Transpose of a rectangular matrix is a

A. rectangular matrix
C. diagonal matrix

-

dotalie 405 dl 2leulob 2
A doriy glbs
C. [asu 2l

_(B/

In a matrix multiplication for A and B, (AB)*=

A. At Bt
C. 1/AB

A 21 B H12 4259 dRusizHi, (AB) =

A. A'B!
C. 1/AB

Transpose of a column matrix is
A. zero matrix
C. diagonal matrix

2A™ W25 214Ul
A, gl
C. [ase alos

B.
D.

B.
D.

d4Ma
[Gi[®a

scaler matrix
square matrix

w[ea Albis
4z 4y

Bt A
AB

Bt A
AB

column matrix
row matrix

2det b
lsd albs

Matrices obtained by changing rows and columns is called

A. rectangular matrix
C. symetric

B.
D.

transpose
None of Above

[5dil 21 slaH oledld Hoda Wzl 5GAIHL 2H19 €9

A doai glbs
C. Md

B.
D.

Zleuiod
25 Ul Adl



17.

9.

18.

<.

19.

.

20.

20,

21.

9.

22.

A matrix having m rows and n columns with m = n is said to be a
A. rectangular matrix B. scaler matrix
C. diagonal matrix D. square matrix

-

L ded 56a ©9...
B. wlea alos
D. iy lbs

M 2L 24 N 5194 42341 405 Him=n
A doizy Ao
C. [asd alos

Order of amatrix[257 ] is...
A. 3x3 B. 3x1
C. 1x1 D. 1x3

-

Albs[ 257 Tl 2.,

A. 3x3 B. 3x1
C. 1x1 D. 1x3
. a b]|.
The value of the determinant |C d| is
A. ac-hd B. ad-bc
C. ab-cd D. ad+hbc
|‘Cl Z| [y 4 yeu 9,
A. ac-hbd B. ad-bc
C. ab-cd D. ad+hbc
When you multiply a matrix by the identity matrix, you obtain the
A. inverse matrix B. original matrix
C. the transpose matrix D. adjoint matrix

orA12 dH isH, 205 24121 2UA A0 4 IBUSIR 521 91, AR AR

A ogd glus
C. yRad sl

B. wo alus
D.  deiadasy glis

cosec’ —1 =
A. sin’@ B. sec’6
C. cos’@ D. cot’d
cosec’ —1 =
A. sin?0 B. sec’d
C. cos’6 D. cot’#

If tan@ = % , then the value of sinf=
A.

C.

o
STIESRIINS

Utd 5

A

o1



L.

23.

3.

24.

Y.

25.

U,

26.

RS,

27.

% tano :34 814 d sind «fl Gud oI,

Ul W W

sin(m+ 0) =
A. sing
C. -sin@

sin(m+ 0) =
A. sind@
C. -sing

Convert radian measure into degree measure:

A. 15°
C. 20°

-~ ~ . . ~ T
A2 Hiua (290l Hrumi 3uidRd s -

A. 15°
C. 20°

If secA = 2 and tanA = v/3 then, sec? A + tan? A =

A 4
C. 9

%\ secA =2 ua tanA =3 dlsec? A +tan? A =

A 4
C. 9

cos(-0) =
A. -cosé
C. sing

B. 4

3
D. 4

5
B. V3

2
D. 1
B. V3
2

D. 1
B. -cosé
D. cosf
B. -cosé
D. cosf
12
B. 16°
D. 25°
B. 16°
D. 25°
B. 7
D. 13
B. 7
D. 13
B. -sing
D. cosf



9,

28.

L.

29.

30.

30.

31.

31.

32.

3.

33.

cos(-0) =
A. -cosél
C. siné@

sin@ + cos? @ =
A. 0
C. 1

sin@ + cos? @ =

A. 0

C. 1

tan (-45°) =
A. 0

C. -0
tan (-45°) =
A. 0

C. -
cos 60 ° =
A. -2

C. -%

cos 60 ° =
A. -2

C. -%

is a vector quantity.
A. Displacement

C. Mass
W) UleQl al .
A, 9did2
C.
Jk=__
A -1
C. 1
jok=__
A, -1
C. 1

(1,2,3).(1,-2,1)=___

A 1
C. 2

-sin
cosd

Ya

Distance
Energy

2id2
Glon

0
None of these

0
515 uBlL Al



33.

34.

37.

35.

3u.

36.

3%.

37.

39.

38.

3<.

39.

1,2,3).(1,-2,1)=___

A 1 B. 0

C. 2 D. -2
Li+jj-kxk=__

A 2 B. 0

cC. -2 D. None of these
Li+jj-kxk=__

A 2 B. 0

C. -2 D. 519 udl «dl
The magnitude of P(5,3,-4) is

A. 50 B. 5

C. 5/2 D. 25
P(5,3,-4)< ¥l 2.

A. 50 B. V5

C. 5v2 D. 25

is perpendicular to @ and b both

A a+b B. a—»b
C. axb D. a/_

“ b

v a v b oid dol @,

A a+b B. a—»b
C. axb D. a/_

“ b
The modulus of the vector (1,1,0) is
A 1l B. %
C. \2 D. 2
Ule2l (1,1,0) < wid 9.
A 1l B. %
C. \2 D. 2
The vector represents a unit in the direction of Z-axis.
A. (01,0 B. (1,11
C. (0,0,0) D. (1,0,0)
Alel Z-u&tel €Ll M1 AsH Aleel e2lid 8.
A. (01,0 B. (1,11
C. (0,0,1) D. (1,0,0)

Ifa=(0,3)and b =(2,0) then, 2a + 3b =



Nice

40.

0.

41.

.

42.

w2

43.

Y3,

44,

v,

A. (4,9 B. (6,-6)
C. (66) D. (4-9)

%\ a=(0,3) ¥ b=(20)dl, 2a + 3b =

A (49) B. (6,-6)
C. (6,6) D. (4-9))
If x.(1, 0) +vy.(0, 1) = (3,3) then, x +y = .

A 1 B. 6

C. 0 D. 4

| x.(1,0) +y.(0, 1) = (3,3) cll, x +y =

A 1 B. 6

C. 0 D. 4

In AABC, A(1,0), B(k,0), C(0, 2) and m«B = 32 then, k =

A 12 B. 02
C. 0O D. -12

AABC HiA(1,0), B(k,0), C(0,2) el mzB =2\, k=

A 12 B. 0,2
C. 0 D. -12
Which point lies on Y-axis?

A. (09 B. (2,0
C. (23 D. (24)

Y-u18, Uz 5% [6ig, 2194 97

A (0,9 B. (20)

C. (23) D. (24)

Find the value of P for which the point (-1, 0), (0, P) and (2, 0) are collinear.
A 1 B. 3

C. 0 D. 2

4 HEL ML syl HI2 [olg (=1, 0), (0, P) 24 (2, 0) UHIA 9.
B.

3
D. 2

Find the distance of the point (-3, 4) from the origin.
A 5 B. 4
C. 8 D. 3

BeaH [olg 4l (-3, 4) [olg, 4 »idz Al
A5 B.
C. 8 D.

w b~



45.

T,

46.

.

47.

9.

48.

vl

49.

.

50.

The end points of diameter of a circle are (3,2 ) and ( -2, -3) . The radius is....

A. 52 B. 52
2

C. 5 D. 5
2

AQUAL AAAL 2id [Bigoll (3,2) 2 (-2, -3) 9. dl Bsnil...

A. 52 B. 52
2

C. D. 5

5
2

The point which lies on the perpendicular bisector of the line segment joining the

points A (4,5)and B (2,-3) is :
A. (0,0) B. (1,3)
C. (31 D. (-1,-3)

(il A (4, 5) 21l B (2, -3) <l ovigdl 2wt < dot [2aciisys uz »u44 [sig

A. (0,0 B. (1,3)

C. 31 D. (-1,-3)

The area of a triangle whose vertices are (5,0), (0, 4) and (0, 0) (in sg. units) is
A. 10 B. 12

C. 6 D. 16

syl [221[o1g211 (5,0), (0,4) 2i< (0,0) 9 ddl [AsiRle, #1501 (491 2i5HIHL)

A. 10 B. 12

C. 6 D. 16

The point (-8, -2) lies in the quadrant.

A 1 B. 3¢

Cc. 2m D. 4"

(6ig, (-8, -2) AWML U4 69,

A 18 B. 34

C. 2n D. 4"
Angle between two line x + 2y+11 = 0 and 2x+4y+25 =0 is .
A. 0° B. 90°

C. 30° D. 60°

6L 2oL X + 2y +11 = 0 94el 2x+4y+25 = 0 424 <1l vl
A. 0° B. 90°

C. 30° D. 60°

Slop of the line which pass through two points A (6, 0) and B (1,-5) is



yo.

51.

uq.

52.

uz.

53.

u3.

54,

uy.

55.

.

Al B. %
C. -2 D. 2

[Gigail A (6, 0) e B(1,-5) wisll uaiiz adl @i -l zla .

A 1 B. %

C. -2 D. 2

If perimeter of a square is 20 cm then its area is sg cm.
A 12 B. 16

C. 25 D. 9

ol Al WM[A 20 A.HL &9 dl de [Ad12 412y Hlzz 9.
A 12 B. 16

C. 25 D. 9

A cylinder and a cone are of the same base radius and same height. Find the ratio of the volumes of the
cylinder of that of the cone.

A. 1.3 B. 12

C. 31 D. 21

=~ =~ =~

25 [RA[A52 Bt 2 UHIA 0l BLosil i UL AL 9. 2l e [R[Arg2eAl dlepul oLl 2iHl

-

A. 1.3 B. 1:2

C. 31 D. 21

What is the area of a semi—circle of radius 5 cm?

A. 78.57 cm? B. 71.42 cm?

C. 63.18cm? D. None of these

5 A4l Bisriidl :09-9401 B0 52 €97
A. 7857 cm? B. 71.42cm?
C. 63.18 cm? D. 5$ udl <l

If the edge of a cube is 1 cm then which of the following is its volume?

A 6m B. 1m?
C. 3mé D. None of these

-

ofl UHeAAl H1R 1 AL 89, dl dlAAmiel d<d diegH s2q 97

A 6m? B. 1m?

C. 3mé D. 518 vl «dl
Which of the following is equal to 1 kilolitre?

A. 1000 mm B. 100 dm

C. 1000 m D. None of these

Alaamidl 54 1 (sailz2 syaq ©97?
A. 1000 mm B. 100 dm



56.

Ue.

S7.

u9.

58.

uc.

59.

60.

<O.

C. 1000m D. 519 ual «dl

Find the area of trapezium whose parallel sides are 20 cm and 18 cm long, and the distance between

themis 15 cm.
A. 225 cm? B. 275cm?
C. 285cm? D. 315cm?

-

Ul (A 2iHl sy<il AHid2 ooyl 20 A3l i 18 A4l aioll 89, 2id dull 422 2id2 15

4.4l

A. 225cm? B. 275cm?
C. 285cm? D. 315cm?
The total surface area of a sphere of radius 5 is.......

A. 314 B. 616

C. 661 D. 205

25 5 [FAowl L atlow <l sa quldl 4 assa =

A. 314 B. 616

C. 661 D. 205
The volume of a cone with the radius r and height h is.......
A. 2zrh B. 3ar®h
C. ar2n/3 D. ar3h

Bioral w1 Gl h «1A 25 4 55 ... &
A. 2zrh B. 3ar®h
C. ar2n/3 D. ar3h

The volume of a cuboid having length 4m, breadth 2 m and height 3 m is

A. 30 B. 60
C. 24 D. 90

-

25 dotae <l dotd 4 422, usions 2 Hl2z 214 Gl 3422 9. dl d, dds0=
21,

A. 30 B. 60

C. 24 D. 90

The ratio of radii of two spheres is 3:2 then the ratio of their volume is ......
A 94 B. 8:27

C. 278 D. 49

o] 2LoWL il [Piswl 3Bl 3:2 €9 dl usdl dHedl 52 <l RldR ...
A. 94 B. 827
C. 2738 D. 49

**Best of Luck**

Ye¥le2



